Lititz
800-414-4705

binkleyhurst.com

Richland
1-888-414-7518

Kinze Unit Mounted Row Cleaner STYLE A

o b

GD1132
G10010
G10503
GB0387
2967-672
TW3813LK
TW3813RK
GA5654
GA2014
GD9724

Dust Cap

5/8”-11 X 3” GR.5 bolt

5/8” Hex Jam Nut

Kinze Curve Tine Finger Wheel
Shark Tooth Finger Wheel

L.H. Straight Finger Wheel
R.H. Straight Finger Wheel
Hub With Bearings

Bearing (2 Required)
Backing Plate

O 00

10
11
12
13
14

Treader Wheel

GA7412
G10204
GA8760
GA7271
G11098
GD10526
G11098
STW-01K

Adjusting Cam

Special H.D. Washer

Weed Guard W/Roll Pin (%” Thick)
Row Cleaner frame

Spring

Sleeve 7-1/2” Long

%” X 9-1/2” GR.5 Bolt

Side Treader Wheel

Kinze Unit Mounted Row Cleaner STYLE B

Treader Wheel
i ™

§
o s
|1

-~

1 GD1132 Dust Cap 7 G10204 Special H.D. Washer
2 G10010 5/8”-11 X 3” GR.5 bolt 8 GAS8760 Weed Guard W/Roll Pin (%” Thick)
G10503 5/8” Hex Jam Nut 9 GBO0401 Row Cleaner Frame
3a GBO0387 Kinze Curve Tine Finger Wheel 10 GBO0383 Bushing
3b 2967-672 Shark Tooth Finger Wheel 11 G11236 %” X 10 %" GR.5 Bolt
3c TW3813LK L.H. Straight Finger Wheel 12 GA7412 Cam
3d TW3813RK R.H. Straight Finger Wheel 13 GA12256 Locking Block
4 GA5654 Hub With Bearings 14 GD10519 Spring
5 GA2014 Bearing (2 Required) 15 STW-01K Side Treader Wheel
6 GD9724 Backing Plate
15 Binkley & Hurst Parts Catalog



